



姓名: _____

日期: _____ 分数: _____

$$(-6)^{(-1)} - 1 =$$

$$7 - (-8) =$$

$$9^{(-1)} - 10 =$$

$$(-1)^2 - (-10) =$$

$$5^2 - (-3) =$$

$$(-4) - (-7) =$$

$$(-8) - (-7) =$$

$$(-6) - 4 =$$

$$(-1)^{(-1)} + (-7) =$$

$$3^2 - 3 =$$

$$7^{(-2)} - (-5) =$$

$$(-2)^2 + 10 =$$

$$(-3)^{(-1)} - (-9) =$$

$$(-4)^{(-1)} - 4 =$$

$$6^2 + 4 =$$

$$2^2 + (-1) =$$

$$6^2 + 2 =$$

$$10^{(-2)} - 5 =$$

$$(-2)^2 - 8 =$$

$$(-10)^{(-1)} + (-8) =$$



姓名: _____

日期: _____ 分数: _____

$$(-6)^{(-1)} - 1 = \left(-\frac{7}{6}\right) = \left(-1\frac{1}{6}\right)$$

$$7 - (-8) = 15$$

$$9^{(-1)} - 10 = \left(-\frac{89}{9}\right) = \left(-9\frac{8}{9}\right)$$

$$(-1)^2 - (-10) = 11$$

$$5^2 - (-3) = 28$$

$$(-4) - (-7) = 3$$

$$(-8) - (-7) = (-1)$$

$$(-6) - 4 = (-10)$$

$$(-1)^{(-1)} + (-7) = (-8)$$

$$3^2 - 3 = 6$$

$$7^{(-2)} - (-5) = \frac{246}{49} = 5\frac{1}{49}$$

$$(-2)^2 + 10 = 14$$

$$(-3)^{(-1)} - (-9) = \frac{26}{3} = 8\frac{2}{3}$$

$$(-4)^{(-1)} - 4 = \left(-\frac{17}{4}\right) = \left(-4\frac{1}{4}\right)$$

$$6^2 + 4 = 40$$

$$2^2 + (-1) = 3$$

$$6^2 + 2 = 38$$

$$10^{(-2)} - 5 = \left(-\frac{499}{100}\right) = \left(-4\frac{99}{100}\right)$$

$$(-2)^2 - 8 = (-4)$$

$$(-10)^{(-1)} + (-8) = \left(-\frac{81}{10}\right) = \left(-8\frac{1}{10}\right)$$